
 

＝      － １.５  

 

＝ 
８

５
 －１.５ 

＝ １.６－１.５ 

＝ ０.１  

＝４.２×
３０

７
 

 

＝ 

 

＝１８ 

「算数チャレンジ大会（算チャレ）２０１９」予選解答 

１ 

１  ４２８＋１６７             ２  ７６８÷１６ 

     ＝５９５                   ＝４８ 

 

 

 

 

 

 

 

３  ３－１.０４３             ４  １.７－ 
３

５
   

   ＝１.９５７                 ＝ 
１７

１０
 － 

３

５
   

                           ＝ 
１７

１０
 － 

６

１０
 

                          ＝ 
１１

１０
 

 

５  １６０－６０÷２             ６  ６.３×７.９－５.９×６.３ 

＝１６０－３０                       

＝１３０ 

 

 

 

 

 

 

７  
５

３
 × 

２４

２５
 －１.５        ８  （１.５×２.８）÷ 

７

３０
 

 

 

 

 

 

 

(別解) ６.３×７.９－５.９×６.３ 

＝ ６.３×（７.９－５.９） 

＝ ６.３×２ 

＝ １２.６  

(筆算すると) 

  ３ 

－）１.０４３ 

１.９５７ 

(筆算すると) 

    ４８ 
１６）７６８  

   ６４  

   １２８ 

   １２８ 

     ０ 

（別解） 

 １.７－
３

５
  

＝１.７－０.６ 

＝ １.１ 

 

(ポイント) 

わり算から 

計算しよう。 

＝ ４９.７７－３７.１７ 

＝ １２.６  

５×２４ 

３×２５ 
１ 

８ １ 

５ 

(別解) 

＝
８

５
－

１５

１０
 

＝
１６

１０
－

１５

１０
 

＝
１

１０
 

１０×７ 

４２×３０ 

１ １ 

６ ３ 

約分がポイ

ントです。 


